@




T

cjluj/ £
4-3.‘.3._ (a}‘& o-lg.ﬁ:é!)
ST oot

(Ph. D.) s 55 dLo,

G328 g g s S ISws 8 4l 5 Aad )

“ ey

Lo 513 05 9 g

5l

HENEY PR |
Slobe ygzrgio 557

v 29t Ofott
obilblb s w57s
(e Sl 3 7o

! !
oAy

|




e J;‘J.ES

99900 L 2 51 533 55 0L 9 Lo 9y by A (y97en o5 [y 03T 5 3250 (SIS 0830 5 yelous
WDy dblgS> a5 vol g Cawnd

5l (S10,08 g ,SKiS Y

OL&‘; ‘SLE o 9 (FY Colos Wy ‘S?_Lo.kbb uw‘g{ LY ‘;L'O'.eLo Moo )5.‘055).; ‘SGT L.JU&' ¢p~\.’uo.~'wlé 9 )Aﬂ')f oliwl

s oo yd j9udy s ST Gl g LSLLLL Jels 25s Bl Llis o, o e jaline ot

i ol o g 51 8851 g b sed a3 gy BT iz el )5 s

‘n..\i.ao\) &5)55 JJSO 6‘[:9] L.)L:..’> 9 (§Vgee ol Ufaa' )5*“55}:. ,\S@-l g_:L~> ‘AJL»A) L5.L>|».\ )9‘0 U‘QL'L..J‘

Lo aian)oi 557 Bl Cls wolEiils oSS oz £ e adiuled

‘eu,\.anél) )350 GGT ol s{:}.l.c saSlasls ‘5.«.»)’}@]— £ o Cu'jo.o

ts'il.éj) S5 LSB-I Gl wpole susiisls SRR P oo Coglee

b di, 98 12570 LT Gl cpgle 0uSiasls o ol pize iglee

3295%R (Gdares )’JSQ ‘SBT uL> “ngl: oaSlzsls 6[:.053 C;:W R0 L oo

ol 50 5 JHE (s lall 255 LT (pard 095 (Jed 5 il piome Sy ke

750 9 ) 558 ST o 5550 (LT el oud s o g Ll (slo lasal, 5f 055 oSS dloass 0)9 ;0 a5 gagbud 4
Sl

ooly oz y wirge BT Glis @le 0aSils agas jgal ¢ ize Sy ke

29 B S 750 pyzye w093 (o Sl gl g 4 i B (g0 39,0 9 Dl

(5":‘§ 9 RAWNIELH AR S ,_);2.7'0 ()L"‘*S >3 g A..JGUL’ZS u\?,:....._a o oli..u.ﬂ.oﬂ £y uy}i«m ‘W 09; UL.UL..»)[S
555 0 Bl 5 aeliy SBT ¢ 02)5,90 il ojug 4 oSl

e (0 (W) diloyws ) S )51 45 ol (Sidpon (slaled g b Cylos oly 4« il pa0 5 o5 j0ko 5 40y

Wigdd (0

L0 9 (05 junon

P332 olyeles g Hudil,8 joly
pywod @ yizeo 0dlgils

(o iS50 (LS 5SS (s oolde i8Sy LT wig 4 0l cwlid)IS 5 (6,350 alate g 4 ohes aan 5l ulowly
l..f’.w% ‘Qw‘ﬂ! e ¢)‘)5L.i5 “5&.3).:4 L [9515 9 Cy-é t‘.g':..é,).&) 5‘57-\*3))95'):5-) t‘s.'il).«é u)l')".; ‘D)Lw’).:fé ig»)\)]é 36')]).»):50
g (S0 “5).;.»4' S o> 567693 ‘)LQS




Pyl 5 L sto yolo g yuy 3ledg S
64".5.0& )9.».&55).3 ‘5157 'odl.o.&.?b Slw! 9

Ole O il Sudj 6 Jlw a8g7 o ool o1, wls, o




PES-I Ol g
L AR AR AR AR AR Rt et b el S
A 1215518523 kS 0 a S

i 3 Bl ols dizr (S tauls vo Olgie 4 ool — by Sl 591 WY guaseo i 1 Jol sk
HY cuisij 9 KSF sy 295607 5 oolaual b s sl J93l

6)}534&»\19 :J}!Jwﬁ-.’

sttt s sttt s (aded = ke il 53l Y game) oo 1=
L ook = el (2T U s -v-y
Tttt Ss S ssS sttt R = PP Lo PR T S
Y ettt s e s ss sk mes s e e oeeee oo W-mﬂl,@,@—f—\
T vt s eSSttt R PR TR E
A 1381881108t aobet = ey 53Ty Loy H=Y¥—y
L e R e RS PRI S PRSCR CR U
s st sseessesres e essos oo ket = ey G281y ol 55 JBIS 5~ ¥
F ettt st s SAs st e RR— A5 98 005 Cyaked = s 2815 ~0-1
Vot e S et =y Y s (4 5 sl 3,15 =51
ettt s e sttt sttt ee s Silogyl s dtun ntiler STy = V-5
et Se 1818888 et et s s et sl il STy —Yopm
stttk skttt Sesly O (g ik Y=g
L K LS k28] ¥—Fr)
bttt s s s et 4l OAS day 35l 2S5 —O—F—
T35 et e e deS ol K25~ p-5-)
O TS5 V=g
L 0388 ol s -A-s-7
T sttt s s 83 et e e Odd g S|y -4-p-)
Yttt s s sttt e enlS gls STy~ vapny
LS b ail- Joudg STy ~11-5-
L Ad (b LI L STy~ Y=g
ettt st e 88 s et s st et (s J g3l m ) aadio—V—)
Y et st 1818t 181188 e s sttt s U3l 5w —A=
M st es s asassss s esesessss s se s oo sss et Sk gl 52 Ol L (gla gyl s — 1A
A bttt st s s e s et 336 S s 55 3l angs ~Y—A=Y




& ‘ las o g

Y sttt et = ey Y g ) 4 ~FoAn)
D ettt o S ol 3 s —0-A-Y
Dttt s e ettt W 0555 oo 31 g —5=A)
L W g0 S 3 a0g5 =VA-
G5 4m g Loy o Juad

Dt 5108ttt Geioss Ca 4= )
¥T ettt ssss et (V0F) 053 =Y = hisn =¥ = S5 ¥ =( 55 Y )=F g =1+ =)
1S oDl Ll 53 (W0) U3l (Y FI=V= o (65 =FF =( 55 ~¥) =0 4 1=
TP el Sl (5l 35018 2 lmn 53 (W0 sl (ot e (65 =1 ~( 35 =) = ags —1¥)
YAoesrtsresresssssssessss e ssessessessssseeesenees e QYY) 0 86 52 =Y= (s 55 =YD =¥ it V'S g, ken =F g A7)
L S A d 3l (SN~ 35 =YD =0 = Jizo (3 ~FF ags V¥ =)
LI (VF) 856 52 =Y hito ~¥m S 5 dom —F=( b 5 1S ~Lie) —F a5 = 10-)
L0 PO V) S5 =) = e (6 1= 518 1) 0 s =15}
L CVFY) g3 (ALY = e (65 =¥ (it 5 IS —10) 0 as =1V
L2 O (VF) 058 gy =Y o=V o 5o =F( Juth gy —ia)=F acgs =1A )
L S (VF0) U3 (I SLII-Y = te 53 =FF=( ot po L0 ) =0 i =14 =)
L (VFV) 050 52 =Y hita Y= S pon (s 1S —LL) —F ags Yo -3
L A (VFA) sl (G50 = = Jeto (63 ~¥=(Juid 5,JS —1,L) =0 args Y1)
L I (V18D Uiy (s oo g2 =) V= oo (63 =P (s 1S 1) =0 apgi —TY=
Fhlcasmmmmmnnesseeseessesesessesssssnse oo s (00N) O 505 32 =¥= g hito Y S 5,k =F=( 55 5,15 (63 —FeT) =F g —YF—1
L (0T U3l (s D) =)= ke (o3 == ( Lsth 5,J8 (65 F0¥) =0 agi —Y¥o1
L4 SO QVOF) U3l g (e om0 =1 V= Juto (63 ~F = uid 5 JS (65 ~Fe¥) =0 ags ~YO-1
¥.rttmevmsmssesessssmessssesssessess oo, (V00) 033 52 =Y ko =¥ S jten ~F=( s 555515 —50) ~F apgs ~T5)
BB e retsrsr s sess e (10%) Ugslm Jub V= e 63 ~¥A~(Jutd 5, 5555 ~1,1) =0 args TV
FAcrrscrmssssssssssesssonesessres oo (VOV) 33l (5 LDV~ et (59 =FoF=( Jush 555855 1) =0 g ~YA-\
Bttt s s S 6 e dets ~Y4)

st s sssses st eoeoeseesseeoeoe okl (5la 1S (gl slgaig ¥y
8 SO L p g Juad
L s tse s At et e e st h e (S (iS5 TN -
D wevmeesssresnsseessessesessssssenen OFF) 0505 =Y = plita =¥ = oS 5 ta¥ ~( o) 55 —1)-F agh 4305 g, Y -
OV ervereseesren S Lyl 5 03 (10 Ul (U 5HUI=1= it (63 ~F0F (a6 =T) =0 aegh 166503 g, ~¥T)
Skl 513501 0 lamn 55 (YD) Uiy (L= e (63 =K (e =) =0 s eipud g, )
T B85535 1555ttt e sl




(ch : Glas s g8
O s sesssseesssssssesssese e OYA) a3l (I FWD-V = 55 =YD =0 = e (65— i —¥F -3
OF s (\\°~>o,sl:ﬁ—\‘—C,lgu—v—w«s,).@-f-(‘}:;sbjs_m)_f 4 —YV=)
OF ottt VD) 3l eih =) = e (3= FF( Juid 5,15 —L2a) =0 a5 ~¥AZ
DOvvrtreressncesessesessssissesseneesse s QYD 3oy (S = Jimo (63 ~FF=( ed 5,15 —io) =0 45 —Y4=)
OOt YY) 06 5 -Y- Ao =¥ S g sdep = F=( b oy —Li) =¥ a g ~Fo -
OF vttt (VF0) U3l (SN ~ oo 53 =FOF=( i pn y—l2n ) = a5 ~F1 =
OF ettt (\fv) oybﬁ-r—&;ﬁ—r-&»s”.@—\‘—(‘p,st—bL_p-v 4 ~FY )
OV crreetvcssesnenessinsssmssssesessessessesssess s OYA) Uil (5L = = e 63 == ( Juid 5,15 —1,1) =0 a5 ~F¥)
OV e ssesenees (¥R J gt ey (b =S s =Lk == fzs (oo =¥ s 518 —1,0) -0 a5 —FF-1
OM . icerermseneesssssssisressssamsssssesssonsneeessons 0D & 5300 53~ Y=z =Y S s poom ~F=( i 5,IS (63 ~F(X) —F g5 ~FO-1
S QO a3l (Y5 1) == fize 63 =F = b 5 IS (63 =) =0 s —F5)
L SO VO o3ty (b (o 520 =101) V= it (60 ~F=( 3 5,JS (65 ~Fi¥) =0 a5 —FV—1
B Y st osnses oo (V00) 05 2 Y= o =¥ S g suken =F=(Jutd 5555 5k3 L) =F args —FA-\
2 T (VOF) dysl e Jod == e (65 =¥ eF=( i 55,955 =)L) —0 args ~¥4=1
B\ eerecssstnessessees s s QOVD I3l ey (5 A= e (90 =¥ td 559 45 ~1)L) =0 rg5 =0 +—1
1188032853885 1882515855 88ttt st ettt s il
1114188820828 et sttt ol

[b— £ ]ad95l s —VH-9 508 &5V S ) R B A AR eY Ol § 3w 190 sy
9 3299500 Elgol b ¢ (atlo 7 g5 4 dy ¢ By &0 - (3o d 519 5 31 00kl b e cygety
gl A6

SIsS g dadde iyl fuad

AY sttt sssreseres st et e e e et b et s re s b e et en s neneeseeseesaea deddo =Y =Y
Y st s ast s esest s st s eeeeeeeesesesoooeo e ol Joms coliios 3lag =Y =Y
st ts s b 0958 (63 =YY Clindio 5l ags -V Y
A ks s st st 18 ettt st DSl gy 5l ags —F Y
bt sseesssesses s st sesseses et seeseeeeeeeeeooee e WS 5 S5 iy 5l angs ~0 =Y
etttk tas s st sees e eeeeeeee s e O 4Slr 3l angs —5 Y
sttt ts s ettt e s e st et eeeeeseeeoooe e la ST 5l g =V =¥
Qe te s st A et et et 05 =Y=cpSI Y 5l ag-A —Y
B sttt sSA AR RS R R R SRt ettt st W il g g —4 =Y
Q% s s et il i (sl 5l aggs =0 =¥
S\ R e s b sttt e e es e o .g,zf,:;,jdwuu,.\,;ww-n-v

Y st s e ss ARttt eeee e el a8 - jlag —1Y -




z s b
QA ittt es oo Al LS =Y =y s Slindne Slags —\Y -y
sttt s s s et L paell Slizioe 1 4 ~\F Y
ettt s st ees oo il gle Laulgd 5l angs 10 -

S5 domi 9 Low 1 pgs fuad
S Gl Cida —\$=Y
Lol 55 e [ DY a5 u[e -t oy 155 1 = VH= 5 (o-VF (Jed 5 25-Y)-%= Jxo =¥ 4.5 ~\V-
L KewdlS
P ode e[ b= fx]}_lj,lf[e LA RN R - SPSTINPIS L ~( b 9,25 =) =P~ Lo =¥ a5 VA=Y
e s sttt sss s sees et et oo oo 23,55k 5 IV 05 byl s

oMU L ept e [ b ¥ ] 50 [ e - vy ]l - \H= 5 ,0a g V¥ =(ed 575 =Y) ~¥= Lo ~¥ 4 —\4-Y

st eS8t et et e et ol b gl
VOuinb o [ D =¥ T 50 [€ -1 oY Issal \H = 5,08 (g5-Vo¥ = =(Jed 5 25 =Y) —¥= Lo ¥ g Yo
VP oty [ D =¥ ] o500 [ € - Y | ERRTHERY SPRN 6o=Ve¥ =( b 5,25 - F) -¥= fze -V g —YA-Y
Vo, e [ =¥ ] 80500 [ € -1y ] may =VH= g5 (60-VeF= Lo =Y =( L g0, =¥) =¥ a5 ~YY-Y
VAl [ B =50 ] 550 [ € -V ] ity —\H= 5 tm 3 ~Ve¥= fzo =¥ —( Jui3 5 JS ~F) ~F 4 g5 —YY-Y

u.n.\_vﬁ.[b-‘fcv ],}-‘b)lﬁ [C—Y” ¢Y ]J.\JJ_.\J]—\H—JJM (_Q.}‘—Vc\c—JM '—‘” —(J:;.."jjls L) —‘fcf) —\c 4:.@3 —TY—Y
\AK

RRSSTEEPY I R 2l AT IS o g LRTH Y - SUSTN 63 V¥ —( b 525 —0) == Jze ¥ a5 ~YO-Y
= [ B =¥ T sm [ € ¥ ] ol ERRUE N CER A N R DR DR 01 DI S WO UL 73R

L1} (S ot [ =¥ dslal @ ¥ T puu) - VA s pun 63 =V = J (S 335 (S g3 g0 (¥
=Fby o [ ¥ ] 50 [ @ -0 ] el ~\H= 5,08 (63 =Y.¥ = Jze =Y) =Y) -£) -Y) ~¥Fm e =Y 4y ~YV-Y
LA T et [ B =¥ 1ot [ @ =YY" ] psal = 1B 5 m (65 -Vo¥ = (S 35 (S 5550 (s
=L [ D =¥ T [ € -1y ] il “VH= 55408 (6 V¥ = 2o =¥) =¥) —#) =F) —¥= Lz =¥ a5 ~YA-Y
AR S e [ B =¥ ] J5l,m [ & =¥ ] pulust - \H= en g3 -V.¥ = (oS 33 (oS5 350 (- ¥
sttt e s s s sttt sttt s SS aomti ~Y4-Y
LR OO s sssesee s sesenn okl (slaylS (ol slgui-¥anY
228 SIS 1 g faa
L S O et sla oS5 ¥y
[D-fr ] sdoslm e - o' ] Mool =VH= g5 (60-VeF =(Jed 9,25~ )-¥= Jte =V 4gd 15 g5 ooy =TY=Y
ettt esee s s ts sttt et et oo SedlS Syt 53 ity
[b-¥x ]:—b)‘f L= Y ] syl =VH= 550 (65 V¥ —( b 5 25 ~Y) ¥ ~de =Y 4 1 ped Jhg, —TY-Y
T et stttk eA SRS SRSt tteseeesceeeee s 235,550 5 I 05 Jal 5 53 py e

(DY Tl [e - v ] oyl V=58 (69 =V =(d 5,25 1) == it ~F g 145 503 Sy V=Y




WYeone e [0 =¥ T sl [ € = ¥ ¥ ]l - VH = o (65-Vo¥ =( b 5,25 ~¥) == o -V a5 —YO-Y
LA PRNENRTENE | B 2 N PRIV TS o G FEATHERY . SPSNWAIPISA 2 S G REIPICRES, DR o0 IR JPUL S
VY e ot [ =¥ Jalosl e [ € YY" ] gyl = VH= 5 5en (e3-Vef= Juzo =Y —( i 3o 5 =YD —F 4y —¥V-Y
V¥ LB =¥ ] sl [ € Y ]l = VH= 550 (63 =VoF= Juze =¥ —(Jub 5,15 =F) =¥ a5 —YA-Y

SR [b-fy ]J_Jjjlﬁ: [e X' ] souyl =\H =5, 0s (53 V- e =Y =( b 9 A8 (63 ~¥eY) ~F ag -Y4-Y

VWOuni g [ D =¥ J5ls5m [ € 11X ] smital = \H= 5508 (65 =Vef ~(Ja558 5,25 ~0) == fuze =¥ a5 —¥o-¥

= [ B Y0 ] sl [ € oY [l - VH= 5 (63 =VeF = 2o —¥) =Y) —¥) =Y) —¥- Jewe Y a5 —FA-Y
VY erereeeesiaenn. ot LB =¥ ] slssl el € - ] pmunl VA= 50 (63 =YY = b (S 5 (S 55 5 (¥
—F- e [ D =¥ T ssln [ € YY" Jsanl - VH= 550 (65 =Ve¥ = Jize =¥) =Y) =£) =Y) =¥ Juze ~Y 4.5 ~FY-Y
A AN ol [ =¥ ] sl [ @ Yy ] iyl = JH= 550 (65 =Ve¥ =} (LS 55 (S5 55R (s

e [B =¥ T bl [ @ < T0htid —VH i (65 ~VeF = o =) =) =) =F) ¥ e - 45 —FF=Y
1 7 SO ek [ D =¥ ] sl [ € =YV T slayl - VH= gy (63 =V = b (uS 52 (oS 5550 (¥

HY cadgh) ©oglome 30 Id ey w990 (63 - ¢} o My 59 ipgw ik

G255 5 wadie iyl Juad

VO oorrriverseneseres et 8814004544454 545 andie =\ Y
VO ettt resessssassssnsssssssss s sssasss s s s et R b o msoden 63 =F\ g Jhay sl =Y =Y
1 1 et se e e R RS R AR AR SRR AR RR AR AR RS0 s Vg, 5l g Y Y
1 s et bR R e 0n b s Oy Jaayd (65 =¥ oY= Ll =Y 5l as ¥ =V
1B s es s R RRR AR AR RSt Laea T (539 el Sl 45 =0 =Y
VPN cstriserencsssersessse s st es s AR RSB AR ER 00 o puelil 3 angs =% =Y
Y s s e eSS s A AR Ol gadea 63 =F\ 2 5l ags —v-Y
Y2 X ettt sasssarssssassseasasesaseasarsssras e b st R s SRsb S 9 da Salshl gla LSy 5 bl ags - =Y
VPV ettt rsssssssssssss s ss st as s bbb s aa AR A RR s RR S Re AR AR ARt ST =5hs asSTy o bl 4 -4 =Y
1Y 2 OO s cpasl Gl apgs =10 =¥
B s teeseseeseses et R RS AR RR RS0 o3 Sl (65 550618 i slma s angs —1Y Y

S5 i 5 Lot pgd Jud
NP et eb st sk R4S RSB R O R R AR AR G Lhda =Y Y=Y

—(\'H AH sOHc“H) A\ —Oi..\_.‘:.;b_)u\a_.h ‘J._IS B AN ihy —'(M )JZ«J" -V)—Q\‘J:QA‘J'S -2 &Ny %@3—“" =Y
T S, (¥¥a) 0




< | e a4

~(OVH QAH OH YH) =A O =y Slyaen 15 =V & 6F & (525 =1) =4 = Lo |5 =8 & & & aes —VE-Y"

AP 1 evrss s sessss st s st 888 e R RSt s et s e e 295361 & slama s (FFR) O 00
—(VH QH OH XH) ~A &\ = ey Slysien 1 =V & 0F 8 =(Jotd 25 =Y) =4 = Jte |5 —F & & & ags —10-F
VPV ceeeseeeseenseees 5544051425585 0513801538555 585 e ettt e et (¥fb) &) 43
~(VH QH OH YH) =A O =y Slosan 15 =V & OF & (e 5,55 -¥) =8 Juta 1,5 = & O & a5 —15-F
AV ¥ e tttee a8 8881888885854 0855 st e e e (FC) O g
~O\VH QH OH SH) -A ) =y Slpsden 15 =V & F 0= Jto 1,5 =8 & 8 O ~(Jsid 5 IS ~1) =4 args —1V=F

D Y ettt ter etk s sk R R4 A44SR RSB et (Hfd) o 50
~(\VH SH OH YH) =A O = s Slysden 1,5 =Y & F O Jo 15 —F & F 8 =( e 5,15 -F) =4 a5 —\A-Y
LV eersme sk 8458158188858 558 et e ("F€) O 55
~(\WH QH OH XH) ~A O\ =y Slsden 5=V & O = | za L5 =8 & 8 8 (b po 0 =¥) -4 args —14-Y
Y bR RS R RS RR SRR ARt b e (D) O 400
~(\H QH OH YH) ~A o\ =553y Slspden 15 =V & F 8= e L5 =F & & & (b 58,0 —F) =4 g9 =Y oY
YRR R AR R et e (Yf2) O35

XH) =A O\ =g Slosken 1,5 =V 8 0F & = Jize 15 =8 & & &) =) =F) ~¥)-0= Jzo L5 F & & ¥ ag Y\
H QH OH XH) A ) =l Slosden 1,5 =V & F 8 = i (S 535 (S 5550 (o =8= 0403 ~(VH QH OH

AWV bbbt AR RS RS S AR R 110 (¥fh) 0 55 -(1»
YH) =A & =iy Slasded 1,5 =V & F & = Jze 15 -8 & & ) =1) ~¥) ~Y)=0 Jza ;5 =5 & X X ag —YY-Y
~(H QH OH XH) ~A & = s S350 U5 =V & 0 & = a3 oS 53 (uS 5552 (s = 03 <O H AH OH

LV et s et b s e R e bR bR et Ree e et et e A et sent e st ee e e se s e es e s teseseeatesebee et eseaessenrastoten (vf) 0403
LA et tes st s8R AR S des =YYV
VAt reseresesrmessss s e RS ARt bee okl (gla,lS (5l slgiy — Y=Y
228 GBS 1 p g Juad

VAN e prtisss s tsessssesesestsesss st AR AR AR E St ogob Sl SST -Y0-Y
~(\WH AH OH XH) -A & =00 Slgoden 1,5 =Y & oF & =(Jod 5,25 =) =4 = Juzo 1,5 =5 & & & a5 Y5 -
VAV oot e (¥¥a) &
~(\H QH OH YH) A ) =3y Shgpded 15 =V & 8 & = b 5265 =) =4 = Juto 55 =8 & & ¥ 4y —YV-¥
VAT ettt ssmssbs st eeeess s st RS RA SRR eSS R 2953618 Coyslaee s (F¥R) O g0
O\ H QH OH XH) =A O =l Sty oien 5=V & 8 & =( b 5,25 =) =4 = Jue L5 =% & & & 4 —YA-Y
A et teestesessss s s esRaAAReRR RS AR RSB RSB0 RS AR RS0 00 (¥tb) O30
(W H QAH OH YH) =A O\ =50y Sy s Lz =V & X 0 (b 5 25 -F) =8- Je 5 =% o & ¥ 4 Y4V
\/\Y’ ................................................................................................................................. (¥¥C) O g0

—(\‘HAH OH cYH) -A N _C)'.’."\:’.JS‘})‘}“..A b:s =Y &£ ‘V—J'::” ]JJ'J - & XY —<L}7‘5 }JLS —Y)—‘\ g ~YeY
VAY i s s a4 SRR (ed) o




) \..JLE-ACA«:JGQ'

OV H SHOH YD =A O =y Slgsdn 15 =V & 0 0= Jao 1,55 & 0 & =( b 5, JS ~F) 4 ags Py

A et 8288 5555 e e ettt (¥¥e) 040
O H SH OH YH) =A ) =0y Slopden 1,5V 6 &8 0= Ln 158 & 08 & (s yo =) -4 a5 ¥t
VAR sttt e e e .. (f1) O 40
QO H AH OH XH) =N O =5 Slosden 5=V & F 0= Jza |5 =5 & 0 & (e 551,05 =F) -4 arqs VYot
VA sttt 1113818155518 ettt (F¥8) 0420

TH) =M\ =0 Slasen 5=V 8 O O = Jan |5 -8 6 & 0) =Y) =) =14 Jzo LS =5 & & X ag YE-Y
HAH OH YH) A O =0y Stopden |5 =Y & 08 8 = Jb (S 535 (S350 (Je =9~ 05 ~(\ H &H OH
A ettt 8t e et (¥fh) o s ~(1
TH) <A ) =000 Slapdea 1,5 =V 6 0 ¥ = Lze | 5-F & O ) =Y) —F) —Y)—‘\-J,,u 15 =8 & X ¥ 4 YOV
SO SH OH TH) =R ) =0y S1550 L5 =V 8 08 8 = (S 55 (S 555 (g =4 0300 <O H AH OH

'
D 1181215 58855855ttt (‘”‘fl) U0
A st 1855128555 ettt b b
Y\O .................................................................................................................................................................................... C:’-lf

29316 S ool b s &g - Y- odguisl Udauial (68 ¥ O 5 51y (Gsci _bg s Poler
KSF

G)ﬂ} 4o dle :dg' }«4.5

L andis =\=¥
Dttt sttt ettt i 3R gy - ¥
L Sighsle ok sl gy 1 -
L 2 S5 s b dsdal sme—¥ ¥
Y st et ess s nes st S 355 0515 Gk Sl dadyl s -0 —F
T A e s s tee et eeeeeee e Sdae O (g il G b SH sl s —f —F
S I s e et e e (5o ] Sla ailm 03 S5 -V —F
L ISl Jials3l sty A ¥
L P Ol 2 IS slo 4l 035 S5, -4 =¥
L La O J gl o w1+ —F

S5 wm 5 ou tpgs fuad
L e Gua ) \=¥
1AL SO (YAR) 5 Y=gy gl (s ¥~ il ~V D)5 =Y ¥ args —1Y —F
B8 S 2350 Tal5 55 (YAB) 0 ~Ym il gl (s ~¥= gl —\ g3 =1 o ags — 1Yo
YTV ettt (PF) 05 =Tl gl (o't = H) < = oS 5 m —F s =1 ¥—¥
LA G—— TAD) 05 =¥~ st (s == geisd =V = Jizo 1) s =¥ & s —\O=¥

f
Syl S )




5 CAlas o b

L1 TP (FAC) 03 =Y=ppd sl (o ~Y=d gl —VH = Juzo =Y) oy =V ¥ a5 —\5F
TY Y e vereesenmessrassssssssssssssssssssssssesssssssmsenens (CAQ) O3 =Y=pdsbial (Jo =Y=d sl =VH = 50 13 =0) s =¥ o a5 —\V=¥
A8 0 SRS (YAE) 05 =Y= gy skl (o =Fmd skl = VD) jousy =Y ¥ = 3o s =0 4.5 —\A-¥
L1 A 05 =Y gutigh (o ~Y=d sl =V = Jza =1) gy =¥ X = o =0 a5 18-
YYF corvrsvvsnrermenssnsessssesesssssssssssssssrens (YA 5 = Y=y sl (s Y= sl —VH = Jizo =¥ ) oy =V ¥ = 50 5 =0 4,5 =Y+ =¥
YYD uovrvvereneseeseresssssssssssssssssssssssssnss (FAR) &5 =Y= il (o =Y=d sl =VH = 50,5 =0) ooy =V ¥ = 50,y —0 g5 —Y\=F
YV (WAL O3 =Y=rdodl (o =¥=d sl =VHD Y= (o —¥=J sl =VH = g 13 —0) =Y = g0y =0 ag5 ~YY-F
YY A erttrennnssssrerseseeseens (VA 05 =Ygy sl (o == sl =VH) Y= (s Y= sl =VH = 4a 5 —0) =¥ a5 VY=Y
Y &b ettt et P PR TR
Y s s b R R st sl (glals &l ol —YO-Y
228 Sl g Juad

T ) tritestr et etaes s ARERAR RSB RS R S R S R s Gl S -Y5-¥
TE Y e (FAQ) O3 =Y=pd sl (o =Y=d sl =V\HD 65 = ¥ ag 10503 oy, =YV =¥
T Y et raseees (FY) 05 =Y=pd ol (Je=Y=d gl - VH) =Y —~ S5 08 -Y a5 -YA-Y
YEY s ssmsssensssssssscessssnssessssssassens (FAD) 05 =Y~y stial (o =Y=d sl =VH = Jzo =1 )y =¥ & o5 ~YA-F
L1 1 LR cerunstnaennensennasensnaes (FAC) &5 Y=y sish (=Y~ getigh =V H = Juzo =) g =Y Y ags =¥ 1 ¥
B s sssssras st ssesanaes AD) 05 =Y=ydsiial (o —Y=dsdiol =VH = g0 0 =0) uy =¥ & a5 ~Y\-¥
VBV et sasssss s sassbessaanes (FAC) U5 = Y=y gl (o =Y=UJ skl = VHD) oo =V & = 30 10 =0 arg5 —YY-¥
L OO (A &3 Y= cpd skl (o ~Y=d it —VH = e =V) ooy =Y O — 30 1 =0 45 —YT-F
L1 1 ROV (FAZ) &9 =Y~ pd gl (L =Y=d syl - VH = Jte =X) us =¥ & = 50, =0 a5 -YY-F
YEF rrrcrrmmissnnnssmnsssssesssasssssanns (FAR) 05 == sl (o ~Y=d sl =VH = 58 5 =0) ooy =¥ ¥ = 50 s =0 g5 —Y0O-¥
09 ~Y=gdsial (e ~Y=dpiol VD) Y= (J ~Y=J ) AH = 50,5 =0) =¥ — 4a 53 =0 a5 15505 jop, ~TF-Y
YEOuvrrreriresereessssss sttt as s s AR AR RRSR Rt (AL
L £ T (YA 05 =Y=gd sl (s ~Y=d skl =VHD) Y= (Jy ~V=d gl =VH = 30,5 =0) =¥ 45 —-YV-¥
Y eamtunsesssnesesssssesssas st 2888118 RSB R R R RR AR RRRR RS R R B st r e b il




ko 13 859,58 S Sid g gy S Ky 20

A3 L Bl e Sl (ol a5 5,50 18500 (S5 m ol Do Lls e Lty 035 28 Sy 2e AS 5
23 it (gl o5y Comal SUIs b Jtl 5 e u s Sashe e s s Jasl,m LS5l Ole s il 458
Ol e Gl At sl ) b)) e 5 LS S el e Slinde s (65 63U s asllles L5 (sla JL
Sl wjf (sl>_dl 3l g0
A o el el iz gls el y s Ol e 4 pedin = ek S8 OV gemmes Tl clay cl ol s o
25 b g gt (5Ln I3l S (530 oSS Lol 3 sl (sla cpilon b s O STy 31 g 5
35 o w33 (S 5 BI85 galaas S eslanid b JasSTy ol s Jg5l s i sla g, axllas (gl IS aels
S 035k 5 S L W 5500 ule & G HY 55 5 KSF (glay 550615 L j2sTy 3,8 )3 )
QY gled) 5 g

a) L-Proline, Imidazole, DMF, r. t.

b) Ar'NHNH,.HCl, CICH,CH,Cl, reflux

¢) Ar'NHNH,, KSF or HY-zeolite, CICH,CH,Cl, reflux

Ar = 2-furyl, 2-thienyl, m-BrCgsH,, m-ClCgHy , p-CIC¢Hy, 2,4-C1,C¢H3, p-FCsH,
Ar' = C¢Hg, p-CH530C¢H,, p-CH3C¢H,

Vgl

ot Paenn B S 2n s (550 gl SESTy o B Sl B b ST - s L sl SIS T )

o oty [ D= ¥ ] 5lm —VH= 5508 (63 =VeF = Jto == )T =¥ 5l (g SAS 5 5w 5 i 43 i

Calllas 3,50 Sl b s 5 5238,5l0 gl gal S SIS s e 4y o B T = e 2S5 Ky Sl eslizd
(Y glad) 23 8 13




HaC 2
/ \ aorbore
N + + ArCHQO ———————>
\N NH,
H
0

Ar= 0-N02C6H4, m—N02C6H4, p-N02C6H4, m—BrC6H4, p-ClC6H4, 2,4-C12C6H3, 5-N02-2-furyl

a) Refluxing absolute ethanol
b) Microwave irradiation under solvent-free conditions
¢) Ultrasound irradiation (U. S.)
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Ar = 2-N02C6H4, 3-N02C6H4, 4-N02C5H4, 2-CIC6H4, 4-C|C6H4, 3-BrC6H4, 4-FC6H4,-..
a) NH,OAc, EtOH, reflux
h) NH4OAc, catalyst, EtOH, reflux
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R!, R”*=H, CH;; R, R*=H, Br
a) EtOH, reflux
b) KSF, EtOH, reflux
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Abstract

Studies on the synthesis and application of Baylis-Hillman adducts as valuable multi-
functional intermediates and synthesis of new 5- and 6-membered N-heterocycles
Mohammad Nikpassand

N-Heterocyclic compounds have attracted many chemists due to their various biological
activites. Among them pyrazoles, pyridines, pyrazolopyridines and indoles have special
importance. In recent years, various studies have been devoted to the synthesis of novel
derivatives of these compounds and several protocols have been devised for their preparation.

In the first part of this thesis, initially Baylis-Hillman adducts as valuable multi-functional
intermediates were synthesized and subsequently, their reaction with substituted
phenylhydrazines under classical condition provided some novel pyrazole products.

In continuation, in designing of new methods for the synthesis of pyrazoles, the efficiency
of some available catalysts was investigated. KSF and HY-zeolite proved to have more
impact on the rate and yield of this reaction (Scheme 1).

A b Tl

a) L-Proline, Imidazole, DMF, r. t.

b) Ar'NHNH,.HC], CICH,CH,Cl, reflux

¢) Ar'NHNH,, KSF or HY-zeolite, CICH,CH,Cl, reflux

Ar = 2-furyl, 2-thienyl, m-BrC¢H,, m-CIC¢H, , p-CIC¢H,, 2,4-Cl,CeHj3, p-FCgH,
Ar' = CgHj, p-CH3;0C4H,, p-CH;3C¢Hy

Scheme 1

Since one-pot multi-component reactions are one of the most valuable reactions for the
preparation of heterocycles, in the second section of the thesis, synthesis of novel compounds
4-aryl-3-methyl-4,7-dihydro-1 H-pyrazolo[3,4-b]pyridines using a one-pot three component
reaction under classical, microwave and ultrasonic irradiation was studies (Scheme 2).
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Ar= 0-NO,C¢Hy, m-NO,C¢Hy, p-NO,CgHy, m-BrCeH,, p-CICgH,, 2,4-CLCgHj, 5-NO,-2-furyl

a) Refluxing absolute ethanol
b) Microwave irradiation under solvent-free conditions
¢) Ulirasound irradiation (U. S.)

Scheme 2
In the third section, a new method for the synthesis of 1, 4-dihydropyridines in the
presence of HY-zeolite was employed. In this investigation the result of the reaction in the
absence and in the presence of the catalyst were compared and the suitable mechanism was
proposed (Scheme 3).

o Ar [0]
0 0
2 + ArCHO —2°%b
N
H

Ar=2-NO,C¢H,, 3-NO,CeH,, 4-NO,C¢Hy, 2-CICgH 4, 4-CIC¢H,, 3-BrCgH,, 4-FCgHyyn
a) NH,OAc, EtOH, reflux
h) NH40Ac, catalyst, EtOH, reflux
Scheme 3
In the fourth section, a novel protocol for the synthesis of 3, 3-diindolylindolin-2-ones as
an important group of biologically active compounds was devised. In this study, KSF was
used as an efficient catalyst (Scheme 4).

RY, R?=H, CH;; R, R*= H, Br
a) EtOH, reflux
b) KSF, EtOH, reflux
Scheme 4
Keywords: Baylis-Hillman, Pyrazole, Pyrazolopyridine, 1,4-dihydropyridine, 3,3-
diindolylindolin-2-one, Microwave, Ultrasonic irradiation, KSF, HY-zeolite
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R= aryl, alkyl,heteroaryl; R'= H,CO,R, alkyl
X=0, NR; EWG= electron- withdrawing group
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- 1. Ugi reaction 2. Passerini reaction 3. Deils-Alder reaction - 4, Ring- closing metathesis
5. Baylis-Hillman reaction
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